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b, Find the domain algebraically.
¢ Sketch the graph.
Use the graph to find the range.
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units to the right and 4 units dewn to create
represents this new graph?
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Warm-Up: Let f(x) = 3x + 1 and g(x) = x2 - 1. Perform each indicated operation. State

domain restrictions where they exist.

L (fr9)x) 2.

3 (Fo)x) 4,

(f-9)x)

g(f(x))
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Warm-Up: Let f(x) = 3x + 1and g(x) = x2 - 1. Perform each indicated operation. State
domain restrictions where they exist.
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1. How can you rewrite y = ¥9x+18 so you can graph it using transformations? Think
about the follewing: what is the parent graph and what transformations have occurred?

S’J: 3‘-\’% = \/?(sz)
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2. Onthe accompanying graph, draw a function that has the following propertics:

o Domain: [3.5] (*?;”‘f J} (6"0‘

b. Range: [-4. 4] =5 S I

¢. Decreasing in the interval (-1, 3) ““> N /.
d.  Maximum at (-1, 4) / ]

HX
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3. Given f(x) = x + 2 and g(x) = x* + 2x, perform the operation or compesition. State
domain restrictions if they exist.

a. f(x)+g(x)

b g(f(x))

3. Given f(x) = x + 2 and g(x) = x* # 2x, perform the operation or composition. State
domain restrictions if they exist.

a  fx)+g(x) < X"‘24~x’7'4-2/<

= leo)xrz,

b glfx)) = 3 <X+2) : (X+2)2+2(/(T2)
= (xe2)(xs2) 4 Ix e Y
XX+ 2xeY
= X +lxt §
c. ;%(x)l B &) )<?4_2,<
w0 g = X2
‘F(x) X+72_ i X?_Xf;)) > X )Xi-l
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4. Given the function f(x) = x* + 2x write a function that is

a. 3 units up and 1 unit left

FrY + et Va6 +3

b. 2 units down and 4 units right

F6) +(x-4) > 20x-9) - 2

¢.  Reflected in the x-axis and vertically stretched by a factor of 2

fix):-2 (x342x): = 2x>-4x
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